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	Reason for change:
	In the current TTCN implementation, in the localTree lt_CheckSCGID_Removed the Cell B (CSG2) is set as suitable neighbouring cell, Cell A (CSG1) is switched OFF, and Cell D is switched on. At this point, the UE is camped on to Cell B (Steps 11b – 17 of expected test sequence).

The expected UE behaviour is that the UE will try and detect the Cell D (CSG 1) as suitable cell and NOT camp on it since CSG ID 1 is not in its whitelist. After this the UE is switched OFF.
The problem here is that if the Cell B is kept as a suitable neighbouring cell, the UE may not look for another cell since the current cell is good enough. Also, when the UE is switched off, it would initiate a DETACH on Cell B, which is unhandled in current TTCN.

	
	

	Summary of change:
	It is proposed that the UE be switched off, and the DETACH on Cell B handled properly in TTCN. After this, the Cell B is set as non-suitable Cell, Cell D as serving Cell and then the UE is switched ON. It is then checked for 30s that the UE does not try to camp on to Cell D.

Please see the detailed change description below.
A Prose CR will be raised to effect this change

	
	

	Consequences if not approved:
	A Conformant UE may fail this test case
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	Other comments:
	


1.1 Change 1
	Object name 
	lt_CheckCSGID_Removed

	Reason for change
	In the current TTCN implementation, in the localTree lt_CheckSCGID_Removed the Cell B (CSG2) is set as suitable neighbouring cell, Cell A (CSG1) is switched OFF, and Cell D is switched on. At this point, the UE is camped on to Cell B (Steps 11b – 17 of expected test sequence).

The expected UE behaviour is that the UE will try and detect the Cell D (CSG 1) as suitable cell and NOT camp on it since CSG ID 1 is not in its whitelist. After this the UE is switched OFF.

The problem here is that if the Cell B is kept as a suitable neighbouring cell, the UE may not look for another cell since the current cell is good enough. Also, when the UE is switched off, it would initiate a DETACH on Cell B, which is unhandled in current TTCN

	Summary of change
	It is proposed that the UE be switched off, and the DETACH on Cell B handled properly in TTCN. After this, the Cell B is set as non-suitable Cell, Cell D as serving Cell and then the UE is switched ON. It is then checked for 30s that the UE does not try to camp on to Cell D.

Please see the detailed change description below.
Please see screenshot.
A Prose CR will be raised to effect this change
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After change: 
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